Exit Ticket D4 - Proprtion (Best Value, Exchange Rates)

How much does 1 can cost in Deal 27?

£0.22 B £4.50
£16.20 B £0.45

If 10 litres of milk costs £1.20 how much
does 1 litre cost?

A) £12
B) 12p
C) £120

D) 24p

S1 = €0.8

How much is $300 worth in €?

€375 B €240

€30080 B €299.20

Correct Answer: ABCD

Explanation:

Correct Answer: ABCD

Explanation:

Correct Answer: ABCD

Explanation:

This quiz was created on www.diagnosticquestions.com. 1



	Exit Ticket D4 - Proprtion (Best Value, Exchange Rates)

